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Method 1:  Brute Force.  I suggest you look at Method 2, as well, because it's so slick.  But this 1st method shows how one might methodically use the points given to derive a system of linear equations and solve for the coefficients of the cubic function in question.
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Method 2: Since data points
corresponded to zeros of the
function, we can immediately write
the durn thing in factored form. The
only coefficient we need to worry
about is the leading coefficient.
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Method 2:  Since data points corresponded to zeros of the function, we can immediately write the durn thing in factored form.  The only coefficient we need to worry about is the leading coefficient.
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Teacher got lazy! Unless
otherwise specified, | generally
expect (and provide) x-intercept
for any line that has one.

-
- "

| don't like the way | wrote this last bit, at all. 0°C does not "equal" 32°F. They correspond to one
another via the conversion formula given. To say they're equal is like saying a dog is 2 cups of food
because that's what he is fed. He's not 2 cups of food, but 2 cups of food goes to/with that dog.
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Teacher got lazy!  Unless otherwise specified, I generally expect (and provide) x-intercept for any line that has one.
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I don't like the way I wrote this last bit, at all.  0o C does not "equal" 32o F.  They correspond to one another via the conversion formula given.  To say they're equal is like saying a dog is 2 cups of food because that's what he is fed.  He's not 2 cups of food, but 2 cups of food goes to/with that dog.
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